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ACCOUNTANCY

Full Marks : 80

Pass Marks : 24

Time : Three hours

The figures in the margin indicate full marks
for the questions.

Q. No. 1 (a) 1x4 = 4
1(b) 1x2 = 2

1(d 1x2 = 2

Q. Nos. 2-7 carry 2 marks each 2x6 = 12
Q. Nos. 8-11 carry 3 marks each 3x4 = 12
Q. Nos. 12-15 carry 6 marks each 6x4 = 24
Q. Nos. 16-18 carry 8 marks eaclt 8x3 = 24
Total = 80
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(1) Fill in the blanks with appropriate word/words : (any four) 1x4=4
Torge WA AR o 4 2 (R i)

of the company.

1.

() Equity shareholders are __
HARHGUTE FPS (AR T

(ii) Receipts and Payments account is a summary of
transactions.
wwl-395 o1t T TR e RRE |

(i) Maximum number of members in a partnership business is
-

¥

Ol XTI AT I TS TR 7 (R l

(fv) In the absence of any agreement, at the time of retirement of

partner goodwill is to be adjusted in ratio.

@I e SREH, TR GO SRS W R

Teooe G F91 A |
(v) Profit and Loss Account is also known as statement.
AS-(ERBI oI9S fa3fS 3fere wat AT

State whether the following statements are True or False : 1x2=2

weq SieEE 9% 7 oST ol ¢

() A company has a separate legal entity different from' its

()

members.
a5 FrIETE 3R TPIPRER 2[R 9jUF O3 HATe 7Y AT |

I(:'f) Quick Assets = Current Assets - Inventory - Prepaid Expenses.
YRS TETR = 5fFe TEHE - Ige o - Sfwews 3
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(c) Choose the correct alternative : 1x2=2

o TEAH I I ¢

(i) The portion of the capi
winding up of the company is called :

A SRR FATSTE Se B Sl AL T (P 2 8

tal which can be called up only on the

(1) Authorised capital
SAirS
() Uncalled capital
WG| e
(c) Reserve capital
HET A
(d) Issued capital
Rferps o
(i) Donation received for a specific purpose is a:
R TRIR AR AS A WA (TR ¢
(a) Capital Receipt
T
() Revenue Receipt
sfre o
(c) Asset
(&
(d) Liability '
(Al
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2. What is a Registered Debenture ? 2
AGIFS Yoo WA &0
OR/ 73
What is ‘Data validation’ ?
‘Data validation’ Wi\ R
;}, What is Goodwill of a business ? 2
I[N T[N WA Fe
4. What is meant by Cash Flow from Operating Activities ? 2

AT FGIAR o1 7o 2 e & ot A2

5 A and B are partners sharing profits and losses in the ratio of 5:3. C is
admitted as a new partner for Y th share, which he acquires ¥ th from A
and Y,th from B. Calculate the new profit sharing ratio. 2

A W% B TEW SHTMIA W& (SSTEANS 5 : 3 THANTS FIS-(GIIGH I T |
(SSTANST C-F TG THAMA BHTot o | C-( AT I, ot o1 | G o (hs
A TR Y G 1% B 2@ Y, O A | A9 S I Sgeirs e 3

OR/ 733

Mention two rights of a partner.

GG TR 7 eI Ty 4|

6. Write kwo limitations of ratio analysis.
weire e ghr Mareel &
OR/ 7zt

Mention two limitations of financial statements.

Rt dferamma 757 Maaae! Tt 4 |
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OR/ %3

What is sequential code ? 2
Sequential ' f& 7 ? |
7.. What is the meaning of Cash Flow from Investing Activities ? 2
RiFcatst arfeeteR o@t a1 T wa e o e
OR/ 7%t | |
What is meant by the term ‘Cash Equivalents’ ? 2
T PSSO = & = W e
OR/ 3t
Write a note on ‘Queries’. 2
‘Queries’¥ 87S «ft (GI o7 |
8.  Write any three essential features of partnership. 3
SRR Rzt ffast iR afeiey o
OR/ aZ3

Write three distinctions between ‘Profit and Loss Account” and ‘Profit and
Loss Appropriation Account’.

TS~ 251 SR FATS-(EITE oIS 25i0'q SR fefany <y fait |

9.  Give any three differences between equity shares and preference shares.
-3

AT S FNETRTE AT NS 4 ﬁzmz%ﬁﬁ‘nnafﬂﬁmi
OR/ 33

Explain the following terms : 3
O] AR Y T4 3
(i) Calls-in-arrears

A G|

(i) Calls-in-advance

AW ol
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OR/ 734

Mention three uses of Spreadsheet, )

Spreadsheet-3 fofbr aREm Trere o)

10. Calculfx\te .the income from subscription for the year 2021 from the
following information : 3

O O/R M1 2021 I AR FEFR oA (A o AR Bl @ g

1-1-2021 | 31-12-2021
(Rs) (Rs.)
Subscription outstanding .3,000 2,000
SR 3R
Subscription received in advance 4,000 5,000
wifaelle e | -

Subscription received during the year 2021 - Rs.70,000.
2021 TR foeR® @ire w1 R sifme — 70,000 5
OR/ 7%

Mention tiree objectives of preparing financial statements. 3

e A Ao’ fORD T Trad 41|
' OR/ &

Explain Database Management System. 3

IBIRD AR Aared JN ]|

1. Current Liabilities of a company were Rs.60,000 and its current ratio was
2:1 on 30th March, 2021. On 31st March, 2021, the company paid
Rs.20,000 to a creditor. Calculate the current ratio after the payment. 3

30 6, 2021 WifFve @51 @ANR BETS (IR AN 60,000 5 Wik Slere
TS 2 : 1 ifReT | 31 S8, 2021 GIRAAS CRIHIICH 20,000 Tt sfremres Aoty

<fRfeE1 | AAGAIR AARCIA AIZS BeTs SFelT® Fiefy =1
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12.

OR/ 7%

Mention three differences between ‘Capital account’ and “Current account’.

3
iR 5t S B fapine arers < D sief T R |
OR/ 7%
Describe three features of the Spreadsheet. 3

Spreadsheet-3 fo/aby (2R 341 |

Prepare a Comparative Income Statement from the following particulars :
6
Y ©UR R G4 PIETS A Ao 4ge H ¢
Particulars (/&) 2020 (%) 2021 ()
Gross Sales ('{3 7@ 1,20,200 1,35,800
Sales Returns (R&w fRree) 10,400 7,600

Cost of Goods Sold (Rl 1 #idq Re=mix) 80,000 84,000
Operating Expenses (J3f%% e 236) 24,000 18,000

Income Tax (TIRITS) 50% 50%
OR/ &3

What is meant by analysis of financial statements ? Explain in brief the

tools of financial analysis. 1+5=6

&d aferave e Wi & gan a2 e Rreer Sifzsrmgg shta 36 a1
OR/ AL

Give the limitations of computerised accounting system. 6

TS (FRI AEfed FaEorE |

33T ACOU [7] Contd.



13. at is meant by issue of debentures as Collateral Security ? Mention four
differences between shares and debentures. 2+4=6

S Gifie RTel s R NI o go ame Seld SR welofd e
515y e ol |
OR/ T3

Explain the objectives of Database Management System (DBMS) ?

TIoIAR ARGER! *afeq TPz I 31|
OR/ T3

Give Journal entries for issue and redemption of debentures under the
2x3=6

6

following situations :
@S Wl SRR A aeiorad fafe o AR s efefe el ¢

(@ 1,000 12% debentures of 3100 each, issued at premium of 5% and

redeemable at par.
1,000 B, 100 TR 12% waei@ 5% SIS B IR TR TAAIS

&N |

() 2,000, 12% debentures of ¥100 each, issued at 5% discount and

redeemable at a premium of 5%.

2000 Bi, 100 BH 12% ¥eid 5% 75 [AF I@ T 5% LTS
AT |

(c) 3,000, 12% debentures of 2100 each, issued at par and redeemable at

a premium of 5%.
3,000 I, 100 B 12% @ TRRS R w0 @ 5% I CEIEIC)

ARG |
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14. A, B and C were in partnership sharing profits and losses equally. On
31st December, 2021 their Balance Sheet was as follows : 6

A,BWCW@W%-WW@@&WWWWWi
31 R, 2021 SRS (HGTAIRT THT-+a3A To6 Tl 43 Sife ¢
Balance Sheet (¥%6-1d)

Liabilities ((4a) 2 Assets (7€) 2
Capital (%) Plant and Machinery 10,000
A =10,000 FRAM S TS
B = 5,000 Stock (TEO) 4,000
C = 5,000 20,000 | Sundry Debtors 6,000
Reserve Fund 3,300 ARy (mmR
s «ffer | Cash at Bank 5,000
Creditors (ll8dMIg) 2,000 | @IS Sl
Cash in hand 300
_ 67 Sl
25,300 25,300

The firm took a joint life policy for 9,000 payable on the first death.

ARHIAH AW GO ARCNEATT 9,000 TIF 947 @ T s e |
C died on 31st March, 2022. Under the partnership agreement the
executors of a deceased partner were entitled to :

31%,2022@rﬁﬂﬁcawiﬂ1§%ﬂt@wwﬁwaﬁﬁﬁﬂwm:

() Amount standing to the credit of deceased partner’s capital account.
7o SR i TRIoia GFETS 4 el 4| _

(i) His share of goodwill on the basis of twice the average of the past

three years’ profits.
fiors Fofiaz 51T e faeR fofes (963 FFR SR |

(iii) Share of profit from the closing of the last financial year to the date
of death on the basis of last year’s profits.

fiof a2Ad FSA ofes Roe IR AR SRR 2@l TPR SRS Fred

R |
(iv) Interest on capital @ 5% p.a.

I5R 5% A T 8ATS O |
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(v) Profits for the last three years were
fsts fofrianea arengg e
2019 = 26,000
2020 = 28,000

2021 = 37,000
Prepare C's capital account on the date of his death.

3 PR Oifws (96a YA 1ot oS #
OR/ 7%
Prepare Income and Expenditure Account from the following Receipts
and Payments Account and other details of ‘Parizat’ club for the year
ended 31st December, 2021 : 6
31 o, 2021 @ﬁmwwaa’amvnﬁmmwﬁmm-wﬁw
o S e a1 B A R ot 4ge I 8
Receipts and Payments Account

Dr. (G040 1) Cr,
Receipt (&) @) | Payments (¥%) (2)

To Cash-in-hand on 11.21 10,000 [ By  Salaries 12,000
1121 SfRee s S "o

To Subscriptions received 20,000 | By  Rent and Taxes 6,000
A9 TG oIl s

To Entrance Fee 10,000 | By  Electric Charges 3,000
of% A e

To Donations 18000 | By  Sports Goods Purchased 25,000
g (3@ A T

To Donation for Club House | 17,000 By Postage 5,000
R TR AR o

To Life Membership Fee 5,000 | By ~ Construction of Club House 36,000

G e W 7 @

To Main%enance Grant 6,000 | By Sundry Expenses 2,000
offRpiFml SR R <

To Capital Grant 7000 | By  Payment of Outstanding Expenses 500
T weg a7 A |

To Gale of Furniture 1,000 [ By Cashin hand on 31.12.21 4,500
Sl 31.12.21 ©fedE Ao w

| 94,000 : 94,000
[10]
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Other details (S fRga¢) :
(i) Total of Entrance Fee and Life Membership Fee are to be capita

% a1 v s W o A R A
(i)  Depreciation on Sports Goods is 32,500.

(45 AR Golge SEEE A 2,500 T
(iii) Book value of the furniture sold was 21,500 on the dat

ﬁﬁa@ﬁ%ﬁaﬂmwﬁqaﬂiﬁmwaﬁﬁu
OR/ A&

How would you compute the amount due to a retir

Q& SRR WA SARaTal e AR Rrd AmRe A2
13. Sunu, Nanu and Nidhi are partners in a firm sharing profits in the ratio
31st March, 2021 was as under : - 6

of 2:1:1. Their Balance Sheet as on
1:1 SO @S I afodi ge SRR e |

lised.

e of sale.

ing partner ?

b, A W @Y 2
31 Wb, 2021 SIS céemm%@ﬁawﬁmmﬁwf% 2
Balance Sheet (¥98-1d)
| Liabilities (¢0) 2 Assets (FT711) E
Creditors (N1 GTvId) 50,000 | Land and Building 80,000
il % S
Capitals (&%) Plant and Machinery 56,000
PR SR TFATS
Sunu (59) 80,000 Furniture (SM63R) 30,000
Nanu (i) 80,000 Motor Car (369 a1&1) | 54,000
Nidhi () 60,000 | 220,000 | Debtors (CIIR) 48,000
' Cash (A5%) 2,000
2,70,000 2,70,000
ved on the above date. The assets realised as follows :

ﬂ.mwmaialﬂmﬁmgwﬁmwwmﬁu

The firm was dissol

ARG SIS AoV
Eumiture (S53R) - 320,000
- %1,00,000

[and and Building (o w1 &)
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Plant and Machinery (393! SR Toifs) - 2 50,000

Motor Car (W53 SI8}) - 328000

Debtors ((1H) _ 50% of Book Value (3¥FH 50%)
Realisation Expenses were 32,000 (FTMITF 4% 2,000 5)

Prepare Realisation Account, Partner’s Capital Account and Cash Account
to close the books of the firm,

AfSBITT R 98 TR A e Rotel, S A I S
o fEpiel s =

OR/ #%t

Write the situations when a partnership firm is dissolved by the court.
TR SR R SR sAffRfenR
16. Amlan Compapy Limited issued 50,000 equity shares of 210 each' at a
premium of Z2 each, payable as under : https:ﬁwww.assamboard-Com 8
On Application - 22
On Allotment - 5 (including premium)
On First and Final Call - 5

The shares were fully subscribed, called up and paid-up except allotment
and call money on 500 shares. These shares were forfeited.

6

Give journal entries in the books of the company.

Amlan G R 24 10 531 TR 50,000 < TG 2fSemTs 2 531
s B W O 2 ©o76 Tl @R #ARe IR A ¢
AR TS — 2 5l
SRR Fre — 5 Bl (AR FCS)
2o R §OIE TR TS — 5 5
IR AR T SR (AR o, (IHRRR TR 1 o1 S 500 2
S GRS TR O TR 4 AR AW R W AR o | R
GRS T4 2 |

@i B A s R
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OR/ %

Write short notes on : (any four) 2x4=8

5y G ot ¢ (frer s1fRoY)

8

(n) Securities Premium (2fgf® w(423)
() Over Subscription (SRE FTTHS)
(c) Re-issue of forfeited shares (TG S¥IAAI I faferead)
(d) Unissued Capital (SRfege @47) |
¢/ Current asset (5@ F=if@)
() Income Statement (SR &feraA)
OR/ &
Explain the steps involved in Computerised Accounting System in detail.
FATHRFS (FRIA AT ACFATE ReweId < =4
17. (a) Explain the average profit method of valuation of goodwill. 3
SN IR TG @S Aafors! 9 |
(b) What is revaluation account ? 2
oA it W 2
() How the adjustment of capitals is made at the time of admission of
a new partner ? | 3
QT TS G S FIAS LR TS e 1 27 |
33T ACOU [13] Contd.



OR/ &1

Nitul and Atul are partners in a firm sharing profits in the ratio 2: 1.
Pranjal is admitted into the firm as a new partner with % th share in

profits. He will bring 30,000 as his capital. The Balance Sheet of Nitul and
Atul as on 31.3.2020 was as under : Q

fiee SR SPeT 2 : 1 SASS S IG5 937 Afsoir S | digers el

g DS efSPAnT A9 SIAMIE f251Tel ©f8 31 74 | (Sie 3eem fZB1est 30,000
Bl WA | 31.3.2020 OIS Fget Wi Ty T g ©ore R 7 S 8

Balance Sheet (¥gg-id)

Liabilities (CH1) 3 Assets (71f6) 2 _ |
Creditors (#li¢aM9) 8,000 | Cash (75) 12,000
Bills Payable (2v¥ ) 4,000 | Debtors ((%4r) 8,000
General Reserve (%% %) 6,000 | Stock (7ES) 10,000
Nitul's Capital (Rg#® &@) | 52,000 | Furniture (SBIM) . 5,000
Atul's Capital (9geR Fei) | 30,000 | Machinery (%) 25,000

Building (W) 40,000
1,00,000 1,00,000

Other terms of the agreement are as under :

5o SRy 56RO R 4999 8
(i) Pranjal will bring in 212,000 as his share of goodwill.

A&z 12,000 561 (e A W fZpnA < |
(i) Building was valued at 345,000 and Machinery at 223,000.

"R o 45,000 T % AT T 23,000 5= 4rff F_ 24 |
(ifi) A reserve for bad debt is to be created at 6% on debtors.

AR GRS 6% SHERAE 4R A S sfow Heq Fwl |

Prepare Revaluation Account, Partner’s Capital Account and the Balance
Sheet of the new firm.

oI T3p1el, SIS A fRo1el R 7R 2OV TE-ofad 2ge |
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18. Amit and Aditya are partners in a firm sharing
of 3: 1. The Trial Balance of the firm as on 31st Decemb
S O Wi 301 GeAreS File- (ARG AT Pl 49
31 forewR, 2022 wifads afedmem e fmmed o

prnfits and losses in the ratio
er, 2022 was as under :
AfeHEE B |

e WA WA ¢ 8

Trial Balance (¥5@ f@meid)

Debit (1) 7 |Credit (%3 ?
Machinery (T2iTe) 000 | Capital (33
Salaries (#3%%)) 15,850 Amit ¥ 50,000
Carriage outward (Reafre oz 2,140 Aditya 2 30000 30,000
Building (&) 54,000 | Trading Account fFf?F fa514) -
Furniture (WK) %000 | - Gross Profit (¥ &%) 85,700
Debtors ((F1AF) 18200 | Creditors (#16%) #,360
Bad Debts (Waria 31) 1400 | Bank Loan (@7 %) 21,00
Cash at Bank (R0 =% &) 1,200 | Discount (2f1) 1,500
Investment (FfaI) 10,000 { Commission (%) A 1,000
Cash in hand (7 Fe6 ) 1170 | Outstanding Wages (¥ ) 1,200
Establishment c%s (ofedim 4%5) 13,000 | Provision for Doubtful Debt 1,000
Closing Stock (1A 7g3) 10000 | (TeemE W Heas I7)
Depreciation on Machinery 3,500
(Tefeq &)
Publicity (¢5R) 5,000
Drawings (Z&) :

Amit (5f5€) 2 5000

Aditya (ST} 2 3,000 8,000
Rent and Rates (S/% % &) 5,500

2,38,960 238,960

Additional Information (l'ﬂ‘{%ﬁ@ ©]) :

(i) Prepaid publicity 3500 (

ST o4vE 25| 500 5F)

(ii)
(ii1)

(iv)

Commission received in advance 2200 (Saweig Ffw=t 200 531)
Provide for doubtful debts @ 5% on Sundry debtors. ((F ¥ $7TO
59, 7S AEFEETE WA AR SR AT I M)

Allow interest on partners’ capital @ 5% p.a. (TP TG 89S

R 5% @ O 47 A |

From the above Trial Balance and additional information, prepare a Profit
and Loss Account, a Profit and Loss Appropriation Account for the year
ended 31st December, 2022 and a Balance Sheet as on that date

oI TG REAE 9T SSRG B9 o 31 FUtbae, 2022 SRS oIl AR
e~ (FIREW (251, ﬁi@-m%ﬁm? e W’ R vt Tge-og oge |
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